WHIRLPOOL =7 BATH

Guillen's Enterprises, inc
jacuzziparts.com
800-222-7855

J-DREAM"

JuL
il P

0000000

PARTS CATALOG

Model #M151000

Model #M152000

Model #M153000

Model #M154000

Model #M155000

Model #M156000

Model #M157000

Model #M158000

Model #M159000

Model #M160000

Model #M161000

Model #M162000

Model #M163000

Model #M164000

Model #M165000

Model #M166000

Model #M167000

Model #M168000

Model #M169000

Model #M170000

Model #M171000

Model #M172000

Model #M173000

Model #M174000

Issue Date: 2/00
Catalog #M5070008B



csr111
Typewritten Text
Guillen's Enterprises, inc
     jacuzziparts.com
       800-222-7855

http://www.guillens.com/index.jsp?path=find&a=1&text=JAC M151
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC M152
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC M153
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC M154
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC M155
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC M156
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC M157
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC M158
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC M159
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC M160
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC M161
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC M162
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC M163
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC M164
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC M165
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC M166
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC M167
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC M168
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC M169
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC M170
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC M171
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC M172
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC M173
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC M174
http://www.guillens.com/

Guillen's Enterprises, inc
jacuzziparts.com
800-222-7855

CONTENTS

PAGE

J-Dream Reference

Shower Enclosure Assembly (Sheet 1 of 2)
Shower Enclosure Assembly (Sheet 2 of 2)
Fastener Identification Guide

Backwall Assembly (Sheet 1 of 2)
Backwall Assembly (Sheet 2 of 2)

Control System/Panel
Equipment/Seatwall Assembly

Other Items Available

O©CoO~NO UL WNEPE

XXX=COLOR/FINISH SELECT
827=CHROME
829=BRASS
865=CHROME
866=BRASS
902=WHITE
940=WHITE
959=WHITE

N.S=NOT SHOWN


csr111
Typewritten Text
Guillen's Enterprises, inc
     jacuzziparts.com
       800-222-7855

http://www.guillens.com/

Guillen's Enterprises, inc
jacuzziparts.com
800-222-7855

J-DREAM [wwi

REPAIR PARTS ARE REFERENCED TO PAGES CALLED OUT BELOW

Jacwzii)

WHIRLPOOL BATH

0000000

& —~@

8 Serial Number location at top on
back of Equipment Seatwall

Please Note: Parts called out in this catalog are for repair and or replacement.


csr111
Typewritten Text
Guillen's Enterprises, inc
     jacuzziparts.com
       800-222-7855

http://www.guillens.com/

Guillen's Enterprises, inc
jacuzziparts.com
800-222-7855

J-DREAM [eee

SHOWER ENCLOSURE ASSEMBLY (SHEET 1 OF 2)



csr111
Typewritten Text
Guillen's Enterprises, inc
     jacuzziparts.com
       800-222-7855

http://www.guillens.com/

* www.guillens.com - (800) 222-7855 Guillen's Enterprises, inc
Smmmmmmmmmmmmmmmmmmmmmmemmeest jacuzziparts.com

s 800-222-7855
Jacvzzi)
O FiRL PoOL ST EAT: J _ D R E A M 1SSUE DATE: 2/00

SHOWER ENCLOSURE ASSEMBLY (SHEET 2 OF 2)

ITEM P/N DESCRIPTION QTY ITEM P/N DESCRIPTION
G167000 Top/Tape Assy 25 G317959 Door, In, LH & RH, White

C113000 Foam, Tape, J-Dream 25 G529866 Door, In, LH & RH, Brass

G160XXX__Top/Frame Assy, RH 25 G391865 Door, In, LH & RH, Chrome

G288XXX__Top/Frame Assy, LH 26 G312000 Magnet, Door

F171XXX Base/Frame Assy 27 G319000 Vinyl Strip

E033000 Foot, Base, 5/16-18 28 9695000 Fastener, Hook

3993832 Nut, Hex, UNC-2B, 5/16-18 29 9696000 Fastener, Loop

E032000 _Bushing, Sqg., 5/16-18 30 G165XXX FrontPanel #5, CD Assy, LH

B340940 Strainer, Shower Drain, White 30 G164XxX_Front Panel #5, CD Assy, RH

A336000 Strainer, Shower Drain, Stainless Steel 31 G218XXX Bonding Assy, Panel #5, Comer & Niche, LH

A713829 Strainer, Shower Drain, Polished Brass 31 G335XXX Bonding Assy, Panel #5, Comer & Niche,
A335000 Drain, Shower LH, w/Stereo

O[] 0|0 |N|O® |0 A W [WIN|F-

10 M292xxX Backwall Assy, LH 31 G217XXX Bonding Assy, Panel #5, Comer & Niche,
10 M293XXX Backwall Assy, RH RH

10 M294xxX__Backwall Assy, LH, Brass 31 G336XXX Bonding Assy, Panel #5, Comer & Niche,
10 M295xXX Backwall Assy, RH, Brass RH, w/Stereo

[E=Y

10 M296XXX__Backwall Assy, LH, Chrome 32 K657000 CD Player

10 M297xxX Backwall Assy, RH, Chrome 33 3968000 Screw, Mach, PHP, #8-32 x .75'L.

11 G286xxX Tim/Driill Panel #3, LH M872XxX Housing

11 F888XXX__ Tim/Drill Panel #3, RH 35 E169000 Bracket, CD Player

12  F907XXX__ Tim/Drill Panel #2, LH 36 E174832 Screw, Hex Hd, M5 x 6MM

12 F183xxX__Tim/Drill Panel #2, RH 37 4051000 Washer, #10 External Tooth, Locking

13 F174000 Bracket, Spacer, 2" x 5" 38 E410000 Wire Assy, Ring x Ring, Green

14 M323XXX Seatwall Assy, LH 39 G331XXX Trim Base Panel, LH

14  M324xxX Seatwall Assy, LH, w/Stereo 39 G221XXX Trim Base Panel, RH

14  M325xXX_Seatwall Assy, RH 40 G421xxX Bonding Assy, Base Side Panel, LH

14 M326XXX Seatwall Assy, RH, w/Stereo 40 G420XXX Bonding Assy, Base Side Panel, RH

14 M323xXX Seatwall Assy, LH, Brass 41  F913xXX Trim/Drill Panel #4 (All Versions)

14 M327XXX Seatwall Assy, LH, Brass, w/Stereo 42 N139XxX Faceplate, CD

e R i e A S R N

15 F908XXX Tim/Driill Panel #1, LH
15 F184xxx Tim/Driill Panel #1, RH
16 G520000 Tee Bracket/Velcro Assy
17 F177xXX_Angle, 1.0x1.0x 73.68
18 F167000 Weldment, Support, Panel
19 F175000 Bracket, 1.50 x 3.37
20 E332000 Bracket/Velcro Assy
21 F892000 Bracket, Left
22 (162959 Enclosure Assy, Side, Comer, LH & RH, w & w/o
Stereo.White 1
22 (412959 Enclosure Assy, Side, Niche, LH & RH, w & w/o
Stereo, White 1
22 (524866 Enclosure Assy, Side, Comer, LH & RH, w & w/o
Stereo, Brass 1
22 (525866 Enclosure Assy, Side, Niche, LH & RH, w & w/o
Stereo, Brass 1
22 G406865 Enclosure Assy, Side, Comer, LH & RH, w & w/o
Stereo, Chrome
22 (3413865 Enclosure Assy, Side, Niche, LH & RH, w & w/o
Stereo, Chrome
* 23 G157959 Enclosure Assy, Front, LH & RH, White
* 23 (523866 Enclosure Assy, Front, LH & RH, Brass
x 23 (404865 Enclosure Assy, Front, LH & RH, Chrome
24 318959 Door, Out, LH & RH, White
24 G526866 Door, Out, LH & RH, Brass
24 G401865 Door, Out, LH & RH, Chrome

HRNRRNRHRA AR R R R RRRRH R R R A PR H RPN NP PR e
w
i

[E=Y

e L i L

* This is the entire enclosure-includes frame, inner & outer doors.
3


csr111
Typewritten Text
Guillen's Enterprises, inc
     jacuzziparts.com
       800-222-7855

http://www.guillens.com/index.jsp?path=find&a=1&text=JAC G167
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC C113
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC G160
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC G288
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC F171
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC E033
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC 3993832
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC E032
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC B340940
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC A336
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC A713829
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC A335
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC M292
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC M293
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC M294
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC M295
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC M296
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC M297
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC G286
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC F888
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC F907
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC F183
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC F174
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC M323
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC M324
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC M325
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC M326
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC M323
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC M327
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC F908
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC F184
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC G520
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC F177
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC F167
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC F175
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC E332
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC F892
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC G162959
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC G412959
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC G524866
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC G525866
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC G406865
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC G413865
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC G157959
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC G523866
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC G404865
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC G318959
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC G526866
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC G401865
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC G317959
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC G529866
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC G391865
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC G312
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC G319
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC 9695
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC 9696
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC G165
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC G164
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC G218
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC G335
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC G217
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC G336
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC K657
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC 3968
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC M872
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC E169
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC E174832
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC 4051
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC E410
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC G331
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC G221
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC G421
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC G420
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC F913
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC N139
http://www.guillens.com/

g WWW guillens.com - (800) 222-7855 -

g A 4
WHlnLPooLg’ATH

lI

Guillen's Enterprises, inc
jacuzziparts.com

800-222-7855

J-DREAM

ISSUE DATE: 2/00

A e soRew T

B SCREW

C WASHER

D NUT

E SCREW

F SCREW

G BOLT

H BOLT

| WASHER

J NUT

FASTENER IDENTIFICATION GUIDE

JWB P/N 2650832

(i

JWB P/N 3973000

JWB P/N 4006832

JWB P/N 4033832

JWB P/N E463000
(e

JWB P/N E049832

-

JWB P/N 3947832

g

(MAASA R Y
A

N

JWB P/N 4034832

1/4-10
X 1.5

PAN HEAD SCREW
#10-24 X 3/4"

FLAT WASHER 1/4"

LOCK NUT 10-24

FLAT HEAD SCREW
M4 X 10 mm

PAN HEAD SCREW
#12 X 1/2

HEX BOLT 1/4-20
X1.5

SELF-TAPPING
M6 X 50 mm

EXTERNAL TOOTH
LOCKWASHER 1/4

1/4-20 LOCK NUT

K

L

WASHER

JWB P/N 4036000

SCREW qm
JWB P/N E170000

JWB P/N D682000

FLAT WASHER #10

ACORN @
NUT JWB P/N D692000
PLASTIC
DOOR @
WHEEL

JWB P/N D681000
WASHER @
M5 X 10
s JWB P/N D691000
LOCKWASHER @
#10
INTERNAL

JWB P/N C929000

] | ]

FLOOR K
CLAMP JWB P/N E020000

Fasteners are depicted for fast identification. A
Jacuzzi Whirlpool Bath (JWB) part number is provided
for ordering purposes. A description is also provided if
items are purchased locally. This chart can be used
in conjunction with the J-Dream Owner's Manual to

order and identify fasteners.


csr111
Typewritten Text
Guillen's Enterprises, inc
     jacuzziparts.com
       800-222-7855

http://www.guillens.com/index.jsp?path=find&a=1&text=JAC 2650832
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC 3973
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC 4006832
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC 4033832
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC E463
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC E049832
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC 3947832
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC E464
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC E406
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC 4034832
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC 4036
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC E170
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC D682
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC E692
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC D681
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC D691
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC C929
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC E020
http://www.guillens.com/

' P www. guillens.com - (800) 222-7855 . Guillen's Enterprises, inc
"""""""""""""""" jacuzziparts.com
800-222-7855

J-DREAM _[sewi

BACKWALL ASSEMBLY (SHEET 1 OF 2)

Jaevzi)
WHIHLPOOL?’ATH

10 1112 stand Off 5
ﬁ -IK Backwall 440
{4 1
13 3
—\ _ Wall Bar

t

I
I
|

9

7 (Reference) iR y i \/g@/ N

43 41

1 46 =nIN@ aa |l ) )
T // 7
47 . =
48 — 9
49 =
— 7 o // . .
Y 8
\ 51

)

BACKWALL EXTERIOR

H
Sl [
\I
<,
(0]
N
%
'
.
\‘]
,
1
N

7 21 22 32
19_ 30
4/ & 20

14
15 30

28
26 P
45\, 29
\

18 \ 27
16 ;%’?A/ 25

17 MIXER DETAIL

15


csr111
Typewritten Text
Guillen's Enterprises, inc
     jacuzziparts.com
       800-222-7855

http://www.guillens.com/

Jde

WHIRLPOOL

Guillen's Enterprises, inc
jacuzziparts.com

goan’

800-222-7855

' www.guillens.com - (800) 222-7855 .

J-DREAM

ISSUE DATE: 2/00

BACKWALL ASSEMBLY (SHEET 2 OF 2)

ITEM P/N DESCRIPTION QTY
1 C980827 Handheld Shower Head, Optica, Chrome 1
1 C980829 Handheld Shower Head, Optica, Brass 1
1 C980902 Handheld Shower Head, Optica, White 1
2 D585827 Flex Hose, Shower, 59", Chrome 1
2 D585829 Flex Hose, Shower, 59", Brass 1
2 D585902 Flex Hose, Shower, 59", White 1
3 C981827 Wall Bar Assembly, Optica, Chrome 1
3 C981829 Wall Bar Assembly, Optica, Brass 1
3 C981902 Wall Bar Assembly, Optica, White 1
4 D865000 Screw, PHP, #10-32 x 2 1/2" L. 2
5 4051000 Washer, #10 External Tooth, Locking 2
6 A827000 Rivnut, #10-32 2
7 FO31XxXX Bail, Backwall 4
8 4034832  Nut, Locking Hd Kep Type 1/4-20 8
9 4006832 Washer, 1/4 Fit, Type B Pin Wd Ser 8
10 E182827 Outlet Assembly, 90, Chrome 1
10 E182829 Outlet Assembly, Brass 1
10 E182902 Outlet Assembly, White 1
11 B734000 _Washer, Fibre 1
12 4826832 Locknut, 1/2" 1
13 F887000 Mirror, 6.00 x 20.00 1
14 E653XXX__ Closet Door, RH 1
15 G663XXX Hinge, Female, Closet Door 2
16 F193000 Washer, Flat, 4.5 MM 2
17 F139000 Washer, Flat, 4.5 MM 2
18 F192000 Nut, Acomn, M4 2
19 3962000 Screw, Mach., PHP 2
20 E651000 Washer, Brass #4, Flat 2
21 G334000 Catch, Female 1
22  F033000 Bracket, Closure, Door 1
23 3967000 Screw, Mach., PHP #8-32 x .50"L. 1
24  (G883XXX Knob, Closet Door 1
25 3971000 Screw, Mach., PHR #10-24 x .50"L. 1
26 4036000 Washer, #10 Flt Type A Pin Wd Ser 1
27 F928827 Handle, Teardrop, Chrome 1
27 F928829 Handle, Teardrop, Brass 1
27 F928940 Handle, Teardrop, White 1
28 (G561827 Faceplate, Optica 100/200, Chrome 1
28 (G561829 Faceplate, Optica 100/200, Brass 1
28 G561940 Faceplate, Optica 100/200, White 1
29 G565000 Gasket, Optica, Foam 1
30 D717000 _Screw, PHP M4 x 12 SS 6
31 J620000 Washer, M4, External Tooth Locking 3
32 G153827 Valve, Mixer, 1 Piece, Trim, Chrome 1
32 G153829 Valve, Mixer, 1 Piece, Trim, Brass 1
32 G153902 Valve, Mixer, 1 Piece, Trim, White 1
33 G569000 Plug, 1/2-14 NPT 1
34 G551000 Ell, St Mod, .5 x .5 MPT x FPT, Brass 2
35 E404000 Nipple, Close, 1/2" NPT 3
36 _E402000 _El, 45, 1/2" FPT 2
37 E183000 Adapter, 1/2" MPT x 3/4" MHT 2
38 A954000 Tee, 1/2"x 1/2"x 1/2" Brass 1
39 K897000 Bushing, Hex 3/8 NPT x 1/2 NPT Brass 1
40  M017000 Adapter, 3/8 CMP x 3/8 MPT, Brass 1
41  A955000 El, 90, 1/2", Brass 2
42  M144000 Flex Hose, Water Supply (Used on LH versions) 1
42  G436000 Flex Hose, Water Supply (Used on RH versions) 2
43 C368000 FlexHose, Water Supply 1
44  D863827 Bracket, Hand Shower, Chrome 1
44 D863829 Bracket, Hand Shower, Brass 1
44 D863902 Bracket, Hand Shower, White 1
45 A970000 Nameplate, JWB Brass 1

ITEM

46
47
48
49
50
51

N.S.

PIN
GB64XXX
4034832
F142000
F143000
D405000
A301000
G898000

N.S.=Not Shown

DESCRIPTION

Hinge, Male, Backwall

Nut, Lockng Hd Kep Type, 1/4-20
Washer, Flat, 6.5 MM

Washer, Flat

Standoff, Fx F M4-33.8 MM
Male Adapter, 1/2 x 1/2

Repair Kit, Cartridge Assembly

I—‘I—‘OOI\)I\)I\)I\)Q

=<


csr111
Typewritten Text
Guillen's Enterprises, inc
     jacuzziparts.com
       800-222-7855

http://www.guillens.com/index.jsp?path=find&a=1&text=JAC C980827
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC C980829
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC C980902
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC D585827
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC D585829
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC D585902
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC C981827
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC C981829
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC C981902
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC D865
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC 4051
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC A827
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC F031
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC 4034832
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC 4006832
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC E182827
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC E182829
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC E182902
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC B734
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC 4826832
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC F887
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC E653
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC G663
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC F193
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC F139
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC F192
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC 3962
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC E651
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC G334
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC F033
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC 3967
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC G883
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC 3971
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC 4036
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC F928827
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC F928829
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC F928940
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC G561827
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC G561829
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC G561940
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC G565
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC D717
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC J620
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC G153827
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC G153829
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC G153829
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC G569
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC G551
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC E404
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC E402
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC E183
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC A954
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC K897
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC M071
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC A955
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC M144
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC G436
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC C368
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC D863827
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC D863829
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC D863902
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC A970
http://www.guillens.com/

Guillen's Enterprises, inc
jacuzziparts.com
800-222-7855

J-DREAM

Qg oo
o Q
.0 4

‘l i
ACUZZE’
WHIRLPOOL g'B'ATH

ISSUE DAIE: 2/00

CONTROL SYSTEM/PANEL

g o odg
ITEM P/N DESCRIPTION QrY
- 1
2 M470XXX  Control Panel, Shower 1
1

XXX=Color/Finish Select



csr111
Typewritten Text
Guillen's Enterprises, inc
     jacuzziparts.com
       800-222-7855

http://www.guillens.com/index.jsp?path=find&a=1&text=JAC P496
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC M470
http://www.guillens.com/

' www.guillens.com - (800) 222-7855

ll

Guillen's Enterprises, inc
jacuzziparts.com
800-222-7855

LR
Limr oot J - D R E A M ISSUE DATE: 2/00
EQUIPMENT/SEATWALL ASSEMBLY
21 27
26_ 25 \_ 17
— 38
e — .Q/ 39
—— &/ 40
= 20— j] %41
— B ? .
1 15 ol ~T) N
13 1
~¢ B J o=-14 30
2324 1
29 —+46 ] 15
18
8 B %
— )
—)
—/o
6 = 1)
 — (Two Places)
—>
o = b 3/8" Copper
— Tubing 1
[ —
\/a
—) .
2,3 & — 10 “
) \\
—e 8
37
?
34
FRONT VIEW BACKVIEW 35 (Two Places
ITEM P/N DESCRIPTION QTYITEM P/N DESCRIPTION TY
1 E388000 Spray Jet Assembly, Machined 12 22  E187832  Nut Elastic Lock, #6-32 8
2 D124000 Fitting, Steam Drain 2 23 MO040000 Cord, 20 Amp, 4 Wire 1
3 E109000  Steam Outlet Nut Ring, J-Dream 2 24  A679000 Tubing, PVC, Reinf,, .38 1.D. x 60 1
4 D418000 Tubing, Corrugated, 1 1/4" O.D. 2 25 G433XXX  Gril, Speaker 4
5 D419000 _Hose, Silicone 2 26 G633XXX_ Trim Ring, Speaker 4
6 Clamp. Hose #H-12 Worm Drive Type 26 G633829 Tim Ring, Speaker, Brass 4
7 P495000 SteamPro 120 Assy, 240V (JD) 2 26 G633848 Tim Ring, Speaker, Stainless Steel 4
8 H313000 Filter, Carbon Cartridge 2 27 E401000 CD Power Supply/Bracket/Cord 1
9 M018000 Adapter, 3/8 Comp x 1/4 MPT 4 28 K882000 Bracket, SteamPro 1
10 M042000 Adapter, Tee, 3/8 Cmp 1 _29 A206000  O-Ring, Spray Jet 12
11 0438000 Hose Clamp. Worm Drive 2 30 K959000  Wiring Harness, CD Stereo J-Dream 1
12 K895000 Manifold Assembly, RH, J-Dream 2 _31 F882000 Bracket, Hinge 2
13 K881000 Manifold Assembly, LH, J-Dream 2 32 F881000  Bracket, Hinge, Wall 2
14  E426000 Spacer, .14 x .38 Dia. 1 33 F880000 Bracket, Hinge, Frame 2
15  A678000 Tubing, PVC, Reinf. 1/2" L.D. x 60" ea. 34 G224000 _ Spring, Extension 2
16 A303000 Barbed Tee, 1/2 x 3/8 x 3/8 1 35 3944832 Bolt, Hex 1/4-20 x .75"L. 8
17 A944000 Spring Clamp, .625 OD Hose 2 36 F142000  Washer, Flat, 6.5 mm 8
18  A945000 Spring Clamp, .75 OD Hose 8 37 N978000 Antenna, AM/FM 1
19 F179000  Bracket. Seatwall 2 38 E402000  Elbow, 45, 1/2 FPT 1
20  E040902 Speaker Set. Marine-White 2 39  P240000 Adapter, 3/4 FHT-1/2 MPT 1
21  E314000 Screw, PHP, #6-32 x 3/4" 8 40 P238000  Regulator, Pressure, 3/4 MHT-FHT 1
41 P239000 Adapter, 3/4 MHT, 1/2 FPT, .72L. 1

0o


csr111
Typewritten Text
Guillen's Enterprises, inc
     jacuzziparts.com
       800-222-7855

http://www.guillens.com/index.jsp?path=find&a=1&text=JAC E388
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC D124
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC E109
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC D418
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC D419
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC 9666
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC P495
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC H313
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC M018
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC M042
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC 0438
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC K895
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC K881
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC E426
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC A678
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC A303
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC A944
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC A945
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC F179
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC E040902
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC E314
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC E187832
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC M040
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC A679
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC G433
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC G633
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC G633829
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC G633848
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC E401
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC K882
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC A206
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC K959
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC F882
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC F881
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC F880
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC G224
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC 3944832
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC F142
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC N978
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC E402
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC P240
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC P328
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC P329
http://www.guillens.com/

WHIRLPOOL BEATH

Guillen's Enterprises, inc
jacuzziparts.com
800-222-7855

J-DREAM

ISSUE DAIE: 2/00

OTHER ITEMS AVAILABLE

G316000 Hardware Kit, RH

G402000 Hardware Kit, LH



csr111
Typewritten Text
Guillen's Enterprises, inc
     jacuzziparts.com
       800-222-7855

http://www.guillens.com/index.jsp?path=find&a=1&text=JAC G316
http://www.guillens.com/index.jsp?path=find&a=1&text=JAC G402
http://www.guillens.com/

Guillen's Enterprises, inc
jacuzziparts.com
800-222-7855

PRODUCT SPECIFICATIONS ARE SUBJECT TO CHANGE WITHOUT NOTICE.
USE INSTALLATION INSTRUCTIONS SUPPLIED WITH PRODUCT.

Jacuzzi Whirlpool Bath has obtained applicable code (standards) listings generally available on a
national basis for products of this type. It is the responsibility of the installer/owner to determine specific
local code compliance prior to installation of the product. Jacuzzi Whirlpool Bath makes no
representation or warranty regarding, and will not be responsible for any code compliance.

JACUZZI WHIRLPOOL BATH

Jacuzzi Whirlpool Bath National Headquarters
PO. Drawer J, Walnut Creek, CA 94596 (510) 938-7070
Service Support: (800) 288-4002

©Copyright 1997 Jacuzzi Whirlpool Bath M5070008 2/00

Printed in the U.S.A.


csr111
Typewritten Text
Guillen's Enterprises, inc
     jacuzziparts.com
       800-222-7855

http://www.guillens.com/

	Main Menu
	Showers Menu
	J-Dream Menu
	Help

	Guillen Button: 


